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AT BB R At *12
h % 50cm 1m
1 9:30 HITEYYH—REDOT L |E/IMRAET3236-1 0.125 0.113 0107 | T
2 1005  |#BULNECERERIS BEHR5A3105 0.099 0.097 0080 | T
3 1045 |[BERABETF=X15 REXE678 0.086 0.072 0.068 | T
4 11:15  |IBREEES R ER 1846 0.084 0.082 0.066 | T
5 11:40 |[RBBHSTE—H 15 B#13454-297 0.105 0.087 0092 | ™
6 1335  |A—FL—RI5 = FHET3074 0.080 0.068 0073 | £Y
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AR BB F R At x12
e 50cm 1m
1 9:10  |(RFR) RAR—VILE5 1 B AT 30081 0.120 0.115 0.107 | £Y
2 9:50 |{RBETHRE LIS 12 PEHET121 0.108 0.100 0.090 | £Y
3 10:10  (FEETEEKIS IR PEET41 0.091 0.080 0073 | EY
4 1050  |FEEBRR—y2EZBHES| T A4ET873-1 0.082 0.077 0.069 | E£Y
5 11:20 | BFEMEBAEEFIKE EMETZTHE1291-6 0.079 0.116 0116 | EU
6 1340  ([HHFYEBLET=RG |BAKET-TH334-3| 0.153 0.135 0124 | £Y
7 1410  |HTFREIDT L HERFHET=T B 1908 0.116 0.115 0.098 | £Y
8 1440 |HT FHREEENS AERHET="T E2090 0.170 0.147 0.159 | £Y
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= 50cm 1m
1 920 |BREEHEtLA— EHYET 1155 0.131 0.098 0.102 | £Y
2 10:10  |FRIEREERLE 52— BARETZTH123-1 0.120 0.113 0.104 | £Y
3 1040 |HTFERBE2— RET2670-4 0.110 0.097 0.088 | £Y
4 11:05  |[FRREE 52— 15637 0.088 0.078 0077 | £Y
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ha 50cm 1m
1 9:10 XAt=EE RRFNET3918 0.077 0.080 0.081 | BEh
2 9:35 |EEFLOEEEM R FE 0.103 0.086 0085 | £V
3 950 |BLEERtEVS— JRAITIET2237-6 0.083 0.071 0.066 | B
4 1030  |FEZEMILTFY BEARETZTB82-1 0.121 0.104 0.106 | BE&h
5 11:05 (FEREX 52— RARB818 0.098 0.096 0.092 | BB
6 1450 |HREISY EI1FE1220-13 0.099 0.088 0.093 | B
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1 920 |REEVHE— #4)11BT1609 0.103 0.103 0.103 | BB
2 9:50 FRIEEIREAE £ THT276 0.071 0.071 0069 | £V
3 10:20 (FRIERELE BARETZTHE105 0.100 0.079 0.088 | £Y
4 10:40  |FEHSVRELE FEMET—T B1348-1 0.133 0.098 0.100 | £Y
5 1120 |E=<IRELE EEB =T B1795-1 0.123 0.096 0.096 | EEh
6 1330 |STANRES HET2767 0.096 0.086 0.088 | £Y
7 1410  |HPHRELE == MB73484-3 0.117 0.100 0090 [ £Y
8 1430 (RRELFELEACY RARE823 0.106 0.105 0087 | £Y
9 1450 (BREES— E#HFRI12-4 0.114 0.093 0.078 | BEh
10 15:20  |[BU>Fto4— = EHET668-1 0.132 0.115 0111 | £Y
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1 9:10 |SFEWREF FHT145-1 0.161 0.141 0.147 | £Y
2 940 |E=REM ARFNET3862 0.154 0.143 0.143 | £Y
3 10:00 |(EBE_REH PRET12-17 0.089 0.081 0073 | £Y
4 1030  |BUOEKBEERR BEFRE5A519 0.118 0.105 0.096 | BEh
5 10:55 [RUDTHREM 5K 234 0.050 0.051 0.053 | BB
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1 9:05 |dAREE FFNET27-32 0.129 0.100 0.108 | £Y
2 9:30 |EMAREE £ RET619-1 0.134 0.114 0.107 | £Y
3 1000 |&FAREE ¥ O BT492 0.114 0.103 0115 | £Y
4 10:25 |BHMAREE Hh SHET1164 0.092 0.084 0079 | £Y
5 10:55 (A REE JRAEITET1029 0.124 0.099 0.106 | =Y
6 11:30  (FEEAREE EHEARKET2760 0.146 0.126 0.123 | BB
7 13:00 |(FRELREE BEAREI ZT B81 0.165 0.146 0.142 | BEh
8 1330 |(HTFEFLRE HEHET=T H2090 0.101 0.097 0.091 | £Y
9 1400 |IBREXARE BT #42023-1 0.088 0.087 0073 | £Y
10 1440 |IREHARE EEF2720 0.138 0.112 0111 | Eh
11 15:00 |IRERAREE 5K 764-1 0.118 0.106 0.089 | EEN
12 15:20 |BARE BEFKER 1750~ 1 0.125 0.101 0.098 | EEN
13 15:50  [HERIESREE BT 1862-3 0.092 0.083 0073 | £Y
14 16:10 |22NEREE B RIZET1296 0.097 0.090 0084 | £Y
15 16:35 (KB AREE £% B HE13032-7 0.107 0.097 0.090 | £Y
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1 9:30 ik NS AR SR (REEE) 0.085 0.090 0078 | Bh
2 955 |EBFLE g FET1-1 0.108 0.102 0.104 | BEh
3 10:15  [RESLBRESNH O AE | KEIET3335-2 0.076 0.079 0.075 | BEN
4 1045 |FIEEELELE ¥E THT186-1 0.099 0.083 0.082 | B
5 11:20  |(HTFHREEBLE AERHET="T B 2091 0.109 0.098 0.099 | BEh
6 13:00 |BEANHLV/I—H RARE823 0.093 0.089 0.091 | BEh
7 13:30 |[FHOILYLEFSIE & RIXET1808-1 0.094 0.085 0.084 | &N
8 1400 [(LWESEHROLYLE | ILEET2663 0.087 0.084 0.076 | BB
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1 9:00 |RE/IER KEDR HrRET4074-1 0.141 0.134 0.136 | /N’
2 9:20 LMHYHE BEEDR ¥iE O ET260 0.089 0.087 0074| ™
3 940 |FE_dh¥k BKEDR & O BT 2371 0.091 0.077 0076 | ™
4 10:00 ZFNERR REHR Y& O BT502-1 0.160 0.149 0.136 58]
5 10:30  [RE/NER KRESR B~ ET422 0.150 0.118 0127 ™
6 10:55 [t REDR TEFHET26 0.105 0.087 0082 | ™
7 11:20 |2ZH#E BEEDR TEFET163 0.158 0.128 0130 | ™
8 11:45  |B2/02E KEHR E RIRET1130 0.157 0.145 0151 |
9 1410  |EE/NER KERR EEE =T HB2169-1 0.150 0.137 0140 | T
10 1425 |ZEHHE BEESR EEE =T HB2139-1 0.121 0.121 0119 |
11 1450 [{REUGEEFR KEFR|H)IIET1003 0.149 0.130 0123
12 15:30  [IREEHRER KERR 15188 0.064 0.060 0070 |
13 16:00 [IRE/NER KERR BEK [ 253-2 0.066 0.067 0078 |
14 16:40 [EE/NER REDR 15 B#11968-40 0.135 0.128 0129 | ™
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1 9:10 |JEE/NER BKEPR EHERAHET2763 0.159 0.149 0138 | £Y
2 9:25 |JEEYHTHE BEEDR EHEARAET2740-2 0.095 0.080 0076 | £Y
3 9:40  |myEREEHERH BERL | EHEARARRT1702-1 0.134 0.127 0127 | £Y
4 10110 |FRIBER/INVER KEFR |JETHET264-1 0.088 0.094 0087 | £Y
5 10:40  |FIEPRZER KEHRR FEARETZT B398 0.082 0.082 0074 | £Y
6 11:00 |[HAMFYHHE EREFR |BARETZTE100 0.156 0.136 0132 | £Y
7 11:25  |FRER/DFER KEFR |FHE—T B260-2 0.118 0.111 0109 | £Y
8 1330 (BT FI/NFER BKESR |EERT_TH1627 0.133 0.126 0129 | £Y
9 1400 |HTFHPER KEPR (EHE2707-2 0.149 0.142 0138 | £Y
10 1420 |HTFHHE BEEPR |(EHET2672-1 0.147 0.146 0142 | £Y
11 1450 |HITFE/NER REPR (=Z=ET4290 0.157 0.129 0138 | £Y
12 15:220  |BEERZ/NER KREHRR (FETHA2020 0.120 0.100 0.098 | £Y
13 15:40  [HRALHER REPR R 42011-1 0.159 0.131 0.134 | £Y
14 16:15 |IRAERZER KEHRR ETRL872-2 0.133 0.125 0.117 | /MR
15 16:30  |IRHEIZ/NER KESRR (FETHI83T 0.160 0.140 0.127 | /M
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1 930 [E—HER REPR EEET—T H24-1 0.079 0.092 0.078 | BEh
2 10:00 |F/NER RESR L RET310 0.150 0.126 0.129 | BEh
3 10:30  (FAHE BEEFR ERET116 0.146 0.139 0.125 | BBh
4 11:00 |F—HHE BEESR Hh#m BT 24-26 0.149 0.134 0.126 | BBh
5 11:30  |EHE /MR KRB R EHET3069-1 0.064 0.076 0.062 | BEh
6 13:00 |EE/NER KERR M EET1475-4 0.136 0.113 0.124 | BEh
7 13:30 |(EMHFHE BEESDR H i SHT1486-8 0.127 0.111 0.113 | Bh
8 1400 |EMER KRESR Mt BHT1065 0.064 0.053 0.051 | £Y
9 1430  |ZH/NER KRERR JRAITIET1620 0.145 0.138 0134 | £Y
10 15:00 |ZH#E BESR PRI TET1656-2 0.102 0.087 0.078 | BN
11 15:20 |BE=hZR KESR A ITET1903-1 0.097 0.073 0.079 | Bh
12 15:40  |dFEZ/NFER KREFRR [FREHET125 0.167 0.148 0143 | £Y
13 16:10  |JEEE Z/NFER KRERR|(THEKET1203 0.155 0.150 0.143 | £Y
14 16:40 [JEEREER REPR L HEARAET2152-2 0.131 0.117 0.107 | £Y
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1 1400 |42 KRERR HEERET28-24 0.093 0.078 0.082 | BN
2 15:00  |FRIE/NER KERR BARET—THBT72 0.115 0.111 0.098 | BENh
3 15:30 |HTF/NER BEPR (EE2770 0.133 0.132 0.127 | BEh
4 16:15 |/ KRERR 515 0.088 0.074 0.069 | &N




